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1. If the roots of the equation 
1x 2 + mx + m = 0 are in the ratio p: q, 

then 

is equal to 

(a) 0 

(c) 2 

2. If 

(b) 1 

(d) 3 

~3x2 - 7x - 30 - ~2x 2 - 7x- 5 = x - 5 

has a and ~ as its roots, then the value 
of a~ is 

(a) -15 

(c) 0 

{b) - 5 

(d) 5 

p q- q p 3. If - + - - m and - + - = n, then what 
X y X y 

is ~ equal to? 
y 

(a) np+ mq 
mp+nq 

(c) 
np - mq 
mp - nq 

(b) np+ mq 
mp - nq 

np - mq 
(d) 

mp +nq 

4. If a 2 - by- cz = 0, ax - b 2 + cz = 0 and 

ax + by - c2 = 0, then the value of 

_x_ +_Y_+~ 
a + x b + y c +z 

will be 

(a) a + b + c 

(c) 1 

(b) 3 

(d) 0 

5. If the equations x 2 - px + q = 0 and 

x 2 + qx - p = 0 have a common root, 

then which one of the following is 
correct? 

(a) p- q = 0 

(c) p + q-1 = 0 
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(b) p + q - 2 = 0 

(d) p- q - 1 = 0 
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6. If x = 23 + 2-3 , then the value of 

2x3 - 6x - 5 is equal to 

(a) 0 (b) 1 

(c) 2 {d) 3 

7. The sum and difference of two 
expressions are 5x2 - X - 4 and 

x 2 + 9x -10 respectively. The HCF of 

the two expressions will be 

(a) (x + 1) {b) (x - 1) 

(c) (3x+7) (d) (2x-3) 

8 . If (s-a)+(s-b)+(s-c)=s, then the 
value of 

(s - a)2 +(s-b)2 +(s - c)2 + s 2 

a2+b2 + c2 

will be 

(a) 3 

(c) 0 

9. If the polynomial 

(b) 1 

(d) - 1 

X 
6 + px S + qx 4 - X 2 - X - 3 

is divisible by (x 4 - 1), then the value of 

p2+q2 is 

(a) 1 

(c) 10 

(b) 9 

(d) 13 

10. Let p and q be non-zero 
Consider the polynomial 

A (X) = X 
2 + px + q 

integers. 

It is given that (x- m) and (x - km) are 
simple factors of A(x), where m is a 
non-zero integer and k is a positive 
integer, k ~ 2. Which one of the following 
is correct? 

(a) (k+1) 2 p 2 = kq 

(b) (k + 1) 2 q = kp 2 

(c) k 2 q = (k + 1)p2 

(d) k 2 p 2 = (k + 1) 2 q 

.. 

\ 
\ 

, 



1. ~ eiftCfi(OI 1x2 + mx + m = 0 ~ l@ p: q 

it~~~, -m ~+t +R ~ 
~t? 

(a) 0 

{c) 2 

2. ~ 

(b) 1 

(d) 3 

~3x2 - 7x - 30- ~2x2 - 7x - 5 =x-5 

it l@ a 3ft\ 13 t o1 al3 "CfiT 1lR <f<n t? 
(a) - 15 (b) - 5 

(c) 0 (d) 5 

3. ~ 
p q 3ft\ q p t o1 X 
-+-= m - +- = n -
X y X y y 

~~t? 

(a) 
np+mq 

(b) 
np+mq 

mp + nq mp - nq 

(c) 
np - mq 

(d) 
np - mq 

mp - nq mp +nq 

4 . ~ a 2 - by - cz = 0, ax - b 2 + cz = 0 3ft\ 

ax + by - c2 = 0 t o1 
X y Z 

--+--+ ­
a +x b + y c +z 

"CfiT 1lR q<n m? 
(a) a + b + c (b) 3 

(c) 1 (d) 0 

5 . ~ etfiCfi(OI x 2 - pX + q = 0 3ft\ 

x 2 + qx - p = 0 "CfiT 1J,Cfi ~~ "%1 t, o1 
f.p•=J R1 f@ (1 ~ "B m -m 1J,Cfi ~ t? 
~ p - q = O ~ p +q - 2=0 

(c) p + q - 1 = 0 (d) p - q - 1 = 0 
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6. ~ x = 2 3 + 2-3 t, o1 2x3 - 6x - 5 "CfiT 1lR 

~~t? 

(a) 0 

(c) 2 

(b) 1 

(d) 3 

7. G) ~. "CfiT ~ 3ft\ 6im: "Sfi'lm: 5x2 - X- 4 

3ft\ x 2 + 9x - 10 t I -r.l G) ~ "CfiT 

lOOfo "Bo (HCF) <f<i1 ffl? 

(a) (x + 1) (b) (x - 1) 

(c) (3x+ 7) (d) (2x - 3) 

8 . ~ ( s - a) + ( s - b) + ( s - c) = s t, o1 

(s - a) 2 + (s-b) 2 +(s - c) 2 +s2 

a2 + b2 + c2 

"CfiT 1lR q<n m? 
{a) 3 

(c) 0 

9. ~~ 

(b) 1 

{d) -1 

X 6 + px S + qx 4 - X 2 - X - 3 

(x4 - 1) "B fcl~ t, o1 p2 + q2 "CfiT 1lR 

q<n t ? 
(a) 1 

(c) 10 

(b) 9 

{d) 13 

10. 1lR ~ p 3fR q ~ ~ ~I 
~ A (X) = x 2 + px + q 1R fcF.rn ~I ~ 
~PT<n t fc!i ( x ·- m) 3ft\ (x - km), A (x) ~ 

~ !!uHcis ~' ~ m 1J,Cfi ~ ~ t, k 

1J,Cfi ~ ~ 3ft\ k ~ 2 t I f.l1001R:ifG<1 ~ 
"B m-m 1J,Cfi ~ t ? 
(a) (k + 1)2 p 2 = kq 

{b) (k + 1)2q = kp 2 

(c) k 2 q = (k + 1)p2 

{d) k2p2 = (k + 1)2q 

( P. T . 0. 



11. Let m be a non-zero integer and n be a 
positive integer. Let R be the remainder 
obtained on dividing the polynomial 
xn + mn by (x - m). Then 

(a} R is a non-zero even integer 

{b) R is odd, if m is odd 

(c) R = s 2 for some integer s, if n is 
even 

(d) R = t 3 for some integer t, if 3 
divides n 

12. If 4x2y = 128 and 3 3 x32Y- gxy = 0, then 

the value of x + y can be equal to 

13. 

14. 

15. 

(a} 7 

(c) 3 

(b) 5 

(d) 1 

lfthe linear factors ofax 2 -(a2 +1)x+a 

are p and q, then p + q is equal to 

(a} (x - 1)(a + 1) 

(b) (x + 1)(a + l) 

(c) (x - 1)(a - 1) 

(d) (x+ 1)(a - 1) 

If 

.Ja +2b +.Ja - 2b 
X = 

. .Ja +2b - .Ja - 2b 

then bx 2 - ax + b is equal to (given that 

b * 0) 

(a} 0 (b) 1 

(c) ab (d) 2ab 

If a 3 = 117 + b 3 and a = 3 + b, then the 
value of a + b is ( given that a > 0 and 
b > 0) 

(a} 7 (b) 9 

{c) 11 (d) 13 
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16 . If the sum of the roots of ax 2 + bx + c = 0 
is equal to the sum of the squares of 
their reciprocals, then which one of the 
following relations is correct? 

(a} ab 2 + bc2 = 2a2c 

{b) ac2 + bc2 = 2b2 a 

(c) ab 2 + bc2 = a 2 c 

(d) a 2 + b 2 + c2 = 1 

17. Consider the following statements in 
respect of the expression 

18. 

S = n(n + 1) 
n 2 

where n is an integer : 

1. There are exactly two values of 
n for which sn = 861. 

2. Sn = S- (n+l) and hence for any 
integer m, we have two values of 
n for which Sn = m. 

Which of the above statements is/are 
correct? 
(a} 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

Consider the following statements in 
respect of two different non-zero 
integers p and q : 

1. For (p + q) to be less than (p- q), 
q must be negative. 

2 . For (p + q) to be greater than (p - q), 
both p and q must be positive . 

Which of the above statements isjare 
correct? 

(a} 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 



11. 1fR ~ m ~ ~ ~ 3ffi n ~ 
~ ~ ~ I llR ~ R, ~ 
xn + mn Cfi) (x - m) ~ fcl~ m ~ "5rnf -

~~~~ 

(a) R~~~~~ 
{b) ROO~,~ mOO~ 

(c) M ~ s ~ ~ R = s 2 t, ~ 
n~~ 

(d) fcnm ~ t ~ ~ R = t 3 t, ~ 3, 

n Cfil fcl~ ~ ~ 

12. ~ 4 x2y = 128 3ffi 3 3 X3 2Y- gxy = 0 t , m 
x + y ~1fR~~m'BCfiOT~? 

(a) 7 (b) 5 

(c) 3 (d) 1 

13. ~ ax2 - (a2 + 1)x+a ~ ~ !JOH@:S 

p3fR qt, m p+q~~~? 
(a) (x - 1)(a+ 1) 

(b) (x + 1)(a + 1) 

(c) (x - 1)(a-1) 

(d) (x + 1)(a-1) 

14. ~ 

.J a + 2b + .J a - 2b 
x=~==---~= .J a + 2b - .J a - 2b 

t, m bx2 - ax + b ~ ~ t ? (~ Tflfl 

tf.fib:;eO.) 
(a) 0 

(c) ab 

(b) 1 

(d) 2ab 

15. ~ a 3 = 117 + b 3 3fR a = 3 + b t m 
a + b·~ 1fR ~ ~? (~ Tflfl t f.fi a > 0 3fR 
b > 0.) 

(a) 7 (b) 9 

(c) 11 (d) 13 
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16. ~ ax 2 + bx +c= 0 ~ ~ ~ ~~ m 
~ ~ Cf1il ~ ~ ~ ~ t, m Pt14R1fuia 
~til 1l ~ ~-m ~ ~ ~? 

(a) ab 2 + bc2 = 2a2 c 

(b) ac2 + bc2 = 2b 2 a 

(c) ab 2 + bc2 = a 2c 

(d) a 2 + b 2 +c2 = 1 

· n(n + 1) ... TTTTTk ~ + 
17. ~ Sn = , ~ n ~ ~~ ~ "~'' c- , ct> 

2 

-affi 1l Pt&:Otf~f@a q;~ ~ ~ ~ : 

1. n ~ ~mo?:<f ~ llR t ~ ~ 
Sn = 861 ~I 

2 . Sn = S- (n+l) ~ 3fR ~ ~ fcf;m ~ 
m~~~-qm n ~~ ll'Rt ~ 

~Sn= m ~ l 

~ Cfi~ 1l ~ ~-m/~ ~~It? 

(a) ~ 1 

(b) ~2 

(c) 1 3fR 2 Gf.n 

fdJ ~ m 1 3fR ~ ~ 2 

18. ~ ~ ~ ~ p 3fR q ~ -am .q 
Rh1R1f@a ~ ~ fcRrn ~ : 

1. (p + q) ~ (p-q) ~ Cfi11 ~ ~ ~ 
q 7itOI k11Cf> 6);n ~ ~I 

2. (p + q) ~ (p - q) ~ 31ft.TCf> ~ ~ ~ 

p3fR q'Gf.n ~~~-~ 

~ q;~ 1l ~ ~-m/~ ~ ~It? 

(a) ~ 1 

(b) ~2 

(c) 1 3fR 2 Gf.n 

fdJ ~ m 1 3fR ~ ~ 2 

[ P.T. 0. 



19. If~ = !:!.=.£, then which of the following 
b c d 

is/are correct? 

1. 
b 3 +c3 + d 3 d 

a 3+ b3 + c3 a 

2. 
a2 + b2 + c2 

b2+c2+d2 

a 

d 

Select the correct answer using the code 
given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

20. 7 10 - 510 is divisible by 

(a) 5 

(b) 7 

(c) 10 

(d) 11 

21. Let a two-digit number be k times the 
sum of its digits. If the number formed 
by interchanging the digits is m times 
the sum of the digits, then the value of 
m is 

(a) 9- k 

(b) 10 - k 

(c) 11 - k 

(d) k - 1 

22. A man walking at 5 km/hour noticed 
that a 225 m long train coming m 
the opposite direction crossed him in 
9 seconds. The speed of the train is 

(a) 75 km/hour 

(b) 80 kmfhour 

(c) 85 kmjhour 

(d) 90 km/hour 
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23 (
sin35°)

2 
(cos55°)

2 
2 . 3 rv:> • 1 • - + stn v ts equa 

cos 55° sin 35° 

to 

(a) - 1 

(b) 0 

(c) 1 

(d) 2 

24. A cyclist moves non-stop from A to B, a 
distance of 14 km, at a certain average 
speed. If his average speed reduces by 
1 km per hour, he takes 20 minutes 
more to cover the same distance . The 
original average speed of the cyclist is 

(a) 5 km/hour 

(b) 6 kmfhour 

(c) 7 kmfhour 

(d) None of the above 

25. If a sum of money at a certain rate of 
simple interest per year doubles in 
5 years and at a different rate of simple 
interest per year becomes three times in 
12 years, then the difference in the two 
rates of simple interest per year is 

(a) 2 % 

(b) 3% 

(c) 3.!.% 
3 

(d) 4!% \. 



.. 

19 . ~ ~ =!!. = ~ t, o1 f.!~f~fuld 1\ -B ~-m/"B 
b c d 

"%'1 t/~? 

a 2 + b 2 +c2 a 

2. b2 + c2 + d2 - d 

~ ~ l]1J: ~ CfiT m cg "%'1 ~ ~ 1 

(a) m 1 

fbJ m2 
(c) 1 3TR 2 c:f.n 
fdJ ~ m 1 3TR ~ ~ 2 

20. 7lo - 5lo ~ fc!~ t? 

(a) 5 

(b) 7 

(c) 10 

(d) 11 

21. llH ~ G) ~ ~ ~ ~ ~ ~ ~ 
~~ k~tl ~~~ ~Cfi) 31m{ 

-q ~ -B Gf.ft ~ ~ 3lcn1 ~ ~ ~ 
m~t, m mCfilllH~t? 
(a) 9 - k 

(b) 10 - k 

(c) 11 - k 

(d) k - 1 

2 2 . ~ ~ ~ 5 "fefio lfto/tW .~ 'qffi "B ~ ~ 
~ fefi fc!trfuf -mn -B 3lRft ~ 2 25 1ft 0 ~ 
~~~ 9 -m 1\-q"RCfi«fttl ~ 
~ 'qffi~ t? 

(a) 75 "fefio lfto /tW 
(b) 80 "fefio lfto /tW 
(c) 85 fefio lfto /tW 
(d) 90 fefio lfto /tW 
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(
sin35°)

2 
( cos55°)

2 
. 2 3 . - +2sm300 

cos55° sin35° 

~t? 

(a) - 1 

(b) 0 

(c) 1 

(d) 2 

24. ~~~A "B B (fCf; 14 fefio lfto ~ 
~ -w.n ~ ~ f.tf~ ~ 'qffi -B w:l Cfl@l 

t I ~ ~ ~ 'qffi 1 "fefio 1ft o "5l'fu tW 
Wl mcfi t, m ~ ~ ~ C!1l WT ~ ~ ~ 
20 f?Rl ~ "ffin t l "3B ~ ~ ~ 
ma~ ~'qffi~t? 

(a) 5 fefio lfto /tW 

{b) 6 fefio lfto /tW 

(c) 7 fefio lfto /tW 

25. ~ ~ t.HUfu mm(UT ~ ~ M f.tf~ 

~G\-B 5~1\m~m~t 3fR 
mm(UT ~ ~ M 31-<l ~ G\ -B 12 ~ 

-q -dH ~ m ~ t -m mm(UT ~ ~ ~ 
c:r.n ~Gil -q ~ ~ t? 

(a) 2% 

(b) 3% 

(d) 4 !% 

[P. T. 0. 



26. Let ABC and A' B' C' be two triangles 
in which AB> A'B', BC> B'C' and 
CA > C'A'. Let D, E and F be the mid­
points of the sides BC, CA and AB 
respectively. Let D', E' and F' be the 
midpoints of the sides B'C', C'A' and 
A'B' respectively. Consider the following 
statements : 

Statement I : 

AD> A'D', BE> B'E' and CF > C'F' 
are always true. 

Statement II : 

AB2 + BC2 + CA2 

AD 2 + BE 2 + CF2 

A'B'2 + B'C'2 + C'A' 2 

A'D' 2 + B'E' 2 + C'F' 2 

Which one of the following is correct in 
respect of the above statements? 

(a) Both Statement I and Statement II 
are true and Statement II is the 
correct explanation of Statement I 

(b) Both Statement I and Statement II 
are true but Statement II is not the 
correct explanation of Statement I 

(c) Statement I is true but Statement II 
is false 

(d) Statement I is false but Statement II 
is true 

27. The annual incomes of two persons are 
in the ratio 9 : 7 and their expenses are 
in the ratio 4 : 3. If each of them saves 
r 2,000 per year, what is the difference 
in their annual incomes? 

(a) r 4,000 

(bJ r 4,5oo 

(c) r 5,000 

(d) ~ 5,500 
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28. Let S be a set of first fourteen natural 
numbers. The possible number of pairs 
(a, b), where a, bE S and a '1- b such 
that ab leaves remainder 1 when 
divided by 15, is 

(a) 3 

(b) 5 

(c) 6 

(d) None of the above 

29. A clock strikes once at 1 o'clock, twice at 
2 o'clock and thrice at 3 o'clock, and 
so on. If it tak es 8 seconds to strike at 
5 o'clock, the time taken by it to strike 
at 10 o'clock is 

(a) 14 seconds 

(b) 16 seconds 

(c) 18 seconds 

(d) None of the above 

30. In a circle of radius 2 units, a diameter 
AB intersects a chord of length 2 units 
perpendicularly at P. If AP > BP, then 
AP is equal to 

(a) (2 + .J5) units 

(b) (2 + .!3) units 

(c) (2 + .J2) units 

(d) 3 units 



.. 

26. lJR ~ ABC 3fR A'B'C' ~ "&~ t ~ 
AB> A'B', BC> B'C' 3fR CA > C'A' t1 
lJR ~ D, E 3fR F Sfilro: ~an BC, CA 

3fR AB ~ llUl-~ t I lJR ~ D', .E' 3fR 
F' Sfilrn: ~3TI B'C' , C'A' 3fR A'B' ~ 
ll~-~ t I f.P=-1R1 f@ C1 q:;?.R)lR fcFm ~ : 

q:i2f-1 I : 

AD> A'D', BE> B'E' 3fR CF > C'F' 

~~tl 

q:;2f-1 II : 

AB2 + BC2 + CA2 

AD2 + BE 2 + CF2 

A'B'2 + B'C'2 + C'A' 2 

A'D'2 + B'E'2 + C'F' 2 

~ ~ ~ ~ Plh1R:ifuia ~~<tA--m~ 
~~? 

(a) q:i2f-1 I 3fR q:i2f-1 II GAl ~ t Cl~ 
q:i2f-1 II, q:i2f-1 I cfi'r ~ ~ t 

(b) "q:i2fol I 3fR ~ II GAl ~ t ~ 
q:i2f-1 II, q:i2fol I cfi'r ~ a:n&n ~ ~ 

(c) ~ I~ ~~q:;2f-1 II~~ 

(d) q:i2f-1 I ~ ~ ~ q:;2f-1 II ~ t 

27. ~ ~ cfi'r ~ 3Wl 9 : 7 ~ ~ ~ t 
3fu~~ 4 : 3 ~ ~-qtl ~~~ 

~ ~ ~ 2,000 >ffu Cflf ~ ~. it~ 
~ 3Wl~CF!l ~~? 

(a) r 4,000 

(bJ r 4,5oo 

(c) ~ 5,000 

(dJ r 5,5oo 
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28. lJR~S~~t.R ~qil~~ 
t I ~ (a, b) cfi'r ti~ ti&:n <FI1 t, ~ · 
a, bE S 3fR a:#= b ~ VcfiR fcfi ab cit 15 ~ 
~~~lR~ 1 wmt? 

(a) 3 

(b) 5 

(c) 6 

29. ~ ~ 1 ~ 11\ ~ ~ ~ t, 2 ~ 11\ ~ 
~~t 3~11\cfH~~t 3fu~ 
Si)lf -q ~ wat tl ~ 5 ~ ~ ~ ~ 
8 ~ M t, it 10 ~ ~ ~ ~ f<RRl 
wrl~~? 

(a) 14 ~ 

(b) 16~ 

(c) 18 ~ 

30. 2 ~ ~ ~ ~ Vf ~ ~ AB, 2 ~ 
~ ~ cit P lR ~ 51Rl"<J~C1 Cfi\01 ~I 
~ AP> BP, it AP~~t? 

(a) (2 +.J5)~ 

(b) (2 + .J3) ~ 

(c) (2 +.J2)~ 

(d) 3~ 

[ P.T. 0. 



31. Under what condition on p and q, one of 

the roots of the equation x 2 + px + q = 0 

is the square of the oth er? 

(a) 1 + q+q2 = 3pq 

(b) 1 + p + p 2 = 3 pq 

32. What is the maximum value of m, if 
the number N = 90 x 42 x 324 x 55 is 
divisible by 3m? 

(a) 8 

(b) 7 

(c) 6 

(d) 5 

33. A bike consumes 20 mL of petrol per 
kilometre, if it is driven at a speed in the 
range of 25-50 kmjhour and consumes 
40 mL of petrol per kilometre at any 
other speed. How much petrol is 
consumed by the bike in travelling a 
distance of 50 km, if the bike is driven 
at a speed of 40 kmjhour for the 
first 10 km, at a speed of 60 kmjhour 
for the next 30 km and at a speed of 
30 kmjhour for the last 10 km? 

(a) 1 L 

(b) 1·2 L 

(c) 1·4 L 

(d) 1·6 L 
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34. Consider the following statements : 

1. Every natural number is a real 
number. 

2. Every real number is a rational 
number . 

3. Every integer is a real number. 

4. Every rational number is a real 
number. 

Which of the above statements are 
correct? 

(a) 1, 2 and 3 

(b) 1, 3 and 4 

(c) 2 and 3 only 

(d) 3 and 4 only 

35. For what value of k is ( x + 1) a factor of 

x 3 + 1cx 2 - X +2? 

(a) 4 

(b) 3 

(c) 1 

(d) -2 

36. Consider the following statements 

1. There exist s a positive real number 
m such that cosx =2m + 1 . 

2. mn ~ m + n for all m, n belonging to 
set of natural numbers. 

Which of the above statem ents isjare 
correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 



31. f!JOftCfl(OJ x 2 + px + q = 0 ~ ~ ~ c8 ~ ~ 
Cf)l Cfl1 m ~ ~ p 3fu q ~ ~t.l ~ 31ttA 
WI? 

(a) 1+q+q2 = 3pq 

(b) 1 + p + p 2 = 3 pq 

(c) p3+q+q2 = 3pq 

(d) q3 + p + p2 = 3pq 

32. ~ ~ N = 90x42 x 324 x 55, 3m "« 
~~ t, en m Cf)l 31f~ l1R ~ t? 
(a) 8 

(b) 7 

(c) 6 

(d) 5 

33. ~ t:i)l(f!J~fctli.1 cnl 25- 50 fcf;o lfto lim ~ 
'lfu:R -q fcntft ~ "« ~ ~ 1R 20 ftro fuo 

~ -srm fctit114'k< cfit ~ ~ t 3fu M 
3Pl ~ "« ~ ~ 1R 40 ftro fuo ~ 
-srm fctit1l tfk< cfit ~ ~ t I ~ lill(ff 1~fctl<.1 
~ 10 fcf;o lfto -q 40 fcf;o lftoiUzr cfit ~ 
"«, ~ 30 "fctlo lfto -q 60 fcf;o lfto l<kl cfit 
~ "« 3fu ~ 10 fcno lfto -q 30 fcf;o Tfto I 
<RT cfit ~ -« ~ 'lffift t -m li1w.=u~fctli.1 
6ro 50 fcf; 0 TfJ 0 cfit ~ (Fl CfiG -q fcf;cR ~ 

cfit~m? 

(a) 1 fuo 

{b) 1·2fuo 

(c) 1·4 fuo 

{d) 1·6 fuo 
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34. f.l8R1fu4C1 "Cfl~ 1R ~ ~ : 

1. ~ ~ ~ ~ CllfdfC!Cfl ~ ~ t I 
2. ~ Cllf<1FC!Cfl ~ ~ ~ ~ ~ 

t l 
3. ~ ~ ~ CllfdfC!Cfl ~ ~ t I 
4. ~ ~ ~ ~ qJfdfC!Cfl ~ ~ 

tl 

~ "Cfl~ -q-« ~--« ~ ~? 

(a) 1, 2 3fu 3 

(b) 1, 3 3fu 4 

(c) ~ 2 3fu 3 

(d) ~ 3 3fu 4 

35. k~~lffi~~(x+l), x 3 +kx2 - x +2 

Cf)l ~ !JUH@~ t? 
(a) 4 

(b) 3 

(c) 1 

(d) - 2 

36. f.l8R1fu4C1 "Cfl~ 1R ~ ~ : 

1. ~ ~ CllfdfC!Cfl ~ m Cf)l ~ 

~ "5I"CflR t fcf; cosx = 2m+ 1 t I 
2. mn ~ m + n, ~tr\ft m, n ~~ ~ 

~~~~~ 

~ "Cfl~ -q-« m-trTI"« ~ t~~? 

(a) ~ 1 

(b) ~2 

(c) 1 3fu 2 G81 

fdJ ";{ en 1 3fu ";{ m 2 

[ P. T . 0. 



37. The solution of the inequation 

1 1 
1 + - - -~0 

x x2 

is ( given that x # 0 ) 

(a) x > 0 

(b) X< 0 

(c) 
- 1 - JS - 1+ J5 

:S:x:S: 
2 2 

- 1- JS - 1+J5 
(d) x :5: or x ~ 

2 2 

38. Which of the points P(S, -1), Q(3, -2) 
and R( 1, 1) lie in the solution of the 
system of inequations x + y :5: 4 and 
x - y ~ 2? 

(a) Q and R only 

(b) P and R only 

(c) P and Q only 

(d) P, Q and R 

39. A passenger train takes 1 hour less for 
a journey of 120 km, if its speed is 
increased by 10 kmj hour from its usual 
speed. What is its usual speed? 

(a) 50 km/hour 

(b) 40 kmjhour 

(c) 35 kmfhour 

{d) 30 kmjhour 

40. The value of k , for which the system 
of equations 3x - ky- 20 = 0 and 
6x - 1 Oy + 40 = 0 has no solution, is 

(a) 10 

(b) 6 

(c) 5 

(d) 3 
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41. Consider the following in respect of 
natural numbers a, b and c : 

1. LCM(ab, ac) = a LCM(b, c) 

2. HCF(ab, ac) = a HCF(b, c) 

3. HCF(a, b)< LCM(a, b) 

4. HCF(a, b) divides LCM(a, b). 

Which of the above are correct? 

(a) 1 and 2 only 

(b) 3 and 4 only 

(c) 1, 2 and 4 only 

(d) 1, 2, 3 and 4 

42. There are three brothers. The sums of 
ages of two of them at a time are 
4 years, 6 years and 8 years. The age 
difference between the eldest and the 
youngest is 

(a) 3 years 

(b) 4 years 

(c) 5 years 

(d) 6 years 

43. A person goes to a market between 
4 p.m. and 5 p.m. When he comes back, 
he finds that the hour hand and 
the minute hand of the clock have 
interchanged their positions. For how 
much time (approximately) was he out 
of his h ouse? 

(a) 55·38 minutes 

(b) 55·48 minutes 

(c) 55·57 minutes 

(d) 55·67 minutes 



37. ~ 1 + _!. --
1 ~ 0 Cfil ~ <Fn ~? (~ 

x x2 

~ ~ fcfi X '* 0.) 

(a) x > 0 

(b) X< 0 

- 1 - ../5 -1 + ../5 
(c) ~x~--

2 2 

- 1 - ../5 - 1+../5 
(d) X ~ <rf X ~ - --'----

2 2 

38. ~3i\ P(S, - 1), Q(3, - 2) 3fR R (1, 1) ~ 
~ ~-~ ~ ~ ~ x+y~4 3fu: 

x - y~2~~~~t? 

(a) ~ Q3TR R 

(b) ~ p3TJ\ R 

(c) ~ p3TJ\ Q 

(d) P, Q 3fR R 

39. ~ ~ ~ 120 fcfio lfto <mTI ~ ~ 1 tR:T 
q1l1 "Blfll M ~. ~ ~ ~ "Bfi1Pl ~ ~ 
1 0 fcf; o 1ft o jtR:l ~ 'iffift ~ I ~ "Bfi1Pl 

~<Fn~? 

(a) 50 fcfio lfto /<R1 

(b) 40 fcfio lfto /<R1 

(c) 35 fcfio lfto /<R1 

(d) 30 fcfio lfto /<R1 

40. k Cfil ~ "flR, ~ ~ ~1-i.,l ef'l\U I ~ 

3x - ky - 20 = 0 3fR 6x - 10y+40=0 Cf;T 

CfiT{ ~ ~ t <Fn ~? 

(a) 10 

(b) 6 

(c) 5 

(d) 3 
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41. tR ~ a, b 3TR c ~ ~ f.!I4Rifula 'G\ ~ 

~ : 

1. LCM(ab, ac) = aLCM(b, c) 

2. HCF(ab, ac) = aHCF(b, c) 

3. HCF(a, b)< LCM(a, b) 

4. HCF(a, b), LCM(a, b) cnl fc!~ 
Cfi«fT ~ I 

~~~~-~~t? 

(a) ~13fu:2 

(b) ~33TR4 

(c) ~ 1, 2 3TR 4 

(d) 1, 2, 3 3fu: 4 

42. tfR ~ t I ~ "Blfll 'G\ ~ ~ GT cf;t ~ Cfil 

~ 4~, 6~ 3TR 8~~ 1 ~~ 3TR 
~ 'ffil cf;t ~ Cf;T 3lcR <Fn ~? 

(a) 3~ 

(b) 4 qtf 

(c) 5 Cft'f 

(d) 6 qtf 

43. ~ affit; mel 4 ~ -B mel 5 ~ ~ ~ ~ 

-;;mn ~ I ~ ~ cntm 31ffiT t ~ ~ 1ffil1 ~ fcfi 
t:Jtl ~ til cf;t -m 3TR trRc cf;t ' efit ~ . ~'? ~ 
3Wffi ~ ~ Tf{ t I ~ ~ "Blfll (WT'llll) ~ 

~<R~~ ~? 

(a) 55·38 trAc 

(b) 55·48 trRc 

(c) 55·57 ~ 

(d) 55·67 trRc 

[ P. T. 0. 



44. In a gathering of 100 people, 70 of them 
can speak Hindi, 60 can speak English 
and 30 can speak French. Further, 30 
of them can speak both Hindi and 
English, 20 can speak both Hindi and 
French. If x is the number of people 
who can speak both English and 
French, then which one of the following 
is correct? (Assume that everyone can 
speak at least one of the three 
languages.) 

(a) 9 < x::::; 30 

(b) 0 ::::; X< 8 

(c) x = 9 

(d) X = 8 

45. A cloth merchant buys cloth from a 
weaver and cheats him by using a scale 
which is 10 em longer than a nonnal 
metre scale. He claims to sell cloth at 
the cost price to his customers, but 
while selling uses a scale which is 
10 em shorter than a normal metre 
scale. What is his gain? 

(a) 20% 

(b) 21% 

(c) 223.% 
9 

(d) 23_!:, % 
3 
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4 6 . Two pipes A and B can fill a tank 
in 60 minutes and 75 minutes 
respectively. There is also an outlet C. 

If A, B and C are opened together, the 
tank is full in 50 minutes. How much 
time will be taken by C to empty the full 
tank? 

(a) 100 minutes 

(b) 110 minutes 

(c) 120 minutes 

(d) 125 minutes 

4 7 . In a race of 1000 m, A beats B by 100 m 
or 10 seconds. If they start a race of 
1000 m simultaneously from the same 
point and if B gets injured after running 
50 m less than half the race length and 
due to which his speed gets halved, then 
by how m uch time will A beat B? 

(a) 65 seconds 

(b) 60 seconds 

(c) 50 seconds 

(d) 45 seconds 

48. The salary of a person is increased by 
10% of his original salary. But he 
received the same amount even after 
increment. What is the percentage of his 
salary he did not receive? 

(a) 11% 

(b) 10% 

(c) (100 I 11)% 

fdJ (90 1 11)% 



44. 100 ~ CfiT ~ ~ il ~ ~ 70 cxiTffi 
~ ~ ~ t, 60 cxiTffi ~ ~ ~ ~ 
3TR 30 cxiTffi ~~~~I~ ~?.f ~. 
~ ~ 30 cxiTffi ~ 3TR ~ Gf.fl i!T~ ~ 
~ (f?.fl 20 cxiTffi ~ 3fu: ~ GRT ~ ~ ~ I 
~ x~~cfa~i\ifl ~ 3TR~ 
Gf.fl ~ ~ t, -at f.lh'lft1f@a ~ ~ ~-~ 

\1,Cfi ~ i? (11R ~ fcf; ~ cxiTffi <fr.il 
~3TI 1i ~ <PI-~-<PI ~ ~ ~ ~ t 1) 

(a) 9 < x ~ 30 

(b) 0 ~X< 8 

(c) x = 9 

{d) X= 8 

45. ~ ~ CfiT ~ ~ ~ ~ ~ i 3TR 
~ 1ftc\ 1frCf.ft ~ 1 0 ~ 0 1ft 0 ~ 1frCf.ft CfiT 

wM ~ ~ Cfi1 tffi9T ~ i I ~ 3i1R ~ 
CfiT "ffilTQ ~ 1R ~ ffi CfiT GTCfl CROl i, 
~ ~ ~ ~ 11111-ft CfiT m CROT t ~ 
~ 1ftc\ 1frCf.ft ~ 10 ~ o 1ft o "ffiit t I ~ 

~'l Cfln i? 

{a) 20% 

(b) 21% 

(c) 223. % 
9 

(d) 23..!.% 
3 

B-ABPA-P-JRW /54A 15 

46. ~ ~ A 3fR B M icfi1 Cfi) ~: 60 iTr.R 
3fR 7 5 iTr.R ll \R ~ ~ I ~ f.lcrn1 C \ft i I 

~A, B 3fR C~?.J ~ ~ ~. "ffi i<fi1 
50 iTr.R ll ~ i I 'ltl i<fi1 Cfi1 C s:TU ~ 
~ 1i fct;o;n ~ ~? 

(a) 100 iTr.R 

(b) 110 iTr.R 

(c) 120 iTr.R 

(d) 125 iTr.R 

47. 1000 >f\o ~ ~ ~ ll A, B CfiT 100 >f\o ?fl 

10 Wfis ~ ~ i l ~ ~ \1,Cfi tt ~ ~ 
1000 1ft 0 cfa ~ ~?of 31R'l ~ ~ 3fR ~ 
B ~ cfa ~ ~ 311tl ~ 50 1ft o <PI (I'Cf1 ~ 

~ -q~ ~ m ~ t ~ <.fiRUI ~ 
~ 311tft m ~ i, "ffi A, B CfiT fcfi<R ~ ~ 
~? 

(a) 65 Wfis 

fbJ 6om 

(c) som 

fdJ 45m 

48. ~ cxiTffi ~ ~ ~ 1@ ~ cfa 10% ~ ~ ~ 
11{1 ~~~~il"TG \ft~~cfa~ 
"tt ufu "5lTif S{ I ~ 3i1R ~ cfa fcf;o;fi ~ 

ufu "5lTif 1tT S{? 

(a) 11% 

(b) 10% 

(c) (100/11)% 

(d) (90/11)% 

[ P. T . 0. 



49. A truck moves along a circular path and 
describes 100m when it has traced out 
36° at the centre. The radius of the 
circle is equal to 

100 
(a) -m 

1t 

(b) 250 m 
1t 

500 
(c) - m 

1t 

{d) 600 m 
1t 

50. Two poles are placed at P and Q on either 
side of a road such that the line joining 
P and Q is perpendicular to the length of 
the road. A person moves x metre away 
from P parallel to the road and places 
another pole at R. Then the person 
moves further x metre in the same 
direction and turns and moves a 
distance y metre away from the road 
perpendicularly, where he finds himself, 
Q and R on the same line. The distance 
between P and Q (i.e., the width of the 
road) in metre is 

{a) x 

{b) X 
2 

{c) y 

(d) 2y 
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51. Suppose chords AB and CD of a circle 
intersect at a point P inside the circle. 
Two right-angled triangles A' P'B' and 
C' Q' D' are formed as shown in the 
figures below such that A'P' = AP, 
B'P' = BP, C'Q' = CP, D'Q' = DP and 
LA'P'B' = 90" = LC'Q'D' : 

Which of the following statements are 
not correct? 

1. A'P'B' and C'Q'D' are similar 
triangles, but need not be 
congruent. 

2. A'P'B' and C'Q'D' are congruent 
triangles. 

3. A'P'B' and C'Q'D' are triangles of 
same area. 

4. A'P'B' and C'Q'D' are triangles of 
same perimeter. 

Select the correct answer using the code 
given below. 

(a) 2 and 3 only 

(b) 1 and 3 only 

(c) 1, 2 and 4 only 

(d) 1, 2, 3 and 4 



49. '% ~ ~ l:f2l 11\ ~ ~ ~ 11\ 36° 

~ CfiB 111: 1 00 lft o ett ~ Wl Cfi\ffi t I 
Vfett~~~t? 

(a) 100lfto 
1t 

(b) 250 lfto 
1t 

(c) 
500 lfto 

1t 

(d) 600 lfto 
1t 

50. it wil '% ~ ~ GR1 fc!:;;ffi1111: P 3ft\ Q 111: 

~~~~~fcf; p3fr\ QCfll~ 

-crrffi ?:&T ~ ett ~ 111: ~ m t 1 '% 
<Xffil; ~ ~ ~ P~ xlfm ~ ~ t 
3ft\ 1% 3P1 W<qT R 111: wmfl t I ~ ~ ~ 
<Xffil; "3"ffi Rw -q X lfm ~ ¥, ~ t 3ft\ 

~ ~ ~ y -qm e€t ~ crl Cfi\ffi t; ~ 
~ 1ffifT t f<f> ~ m, o 3ft\ R '% tt ?:&T 111: 

~ I P 3ft\ Q ~ ~ ett ~ (31~ ~ ett 
~) -qm -q CFil t? 

(a) x 

(b) X 

2 

(c) y 

(d) 2y 
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51. 11R ~ '% Vf ett ~ AB 3ft\ CD~~ 
~ ~ p 111: ~ "Cfi«ft ~ I Gl ~ 
f-1~ A'P'B' 3ft\ C'Q'D' ~ ~ R:fl ~ 
~ ~ ~ ~ ~ fcn A'P' = AP, 

B'P' = BP, C'Q; = CP, D'Q' = DP 3ft\ 

LA'P'B' = 9fJ> = LC'Q'D'~: 

A' 

R8!f1R9\1 Cfi~ -q ~~-~"fit\ -;nft ~? 

1. A'P'B' 3ft\ C'Q'D' ~ f-1~ ~ ~ 
~-;® fcn f1Clf11Wi m I 

2. A'P'B' 3ft\ C'Q'D' f1Clf11fl'"i f-1~ ~ I 

3. A 'P'B' 3ft\ C'Q'D' WlR ~ ~ 

f-1~ ~I 

4. A'P'B' 3ft\ C'Q'D' Wl8 ~ ~ f-1~ 

~I 

(a) ~23ft\ 3 

(b) ~ 1 3ft\ 3 

(c) ~ 1, 2 3ft\ 4 

(d) 1, 2, 33ft\ 4 

[ P.T. 0. 



52. Suppose ABC is a triangle with AB of unit 
length. D and E are the points lying on 
AB and AC respectively such that BC 
and DE are parallel. If the area of 
triangle ABC is twice the area of triangle 
ADE, then the length of AD is 

(a) ..!. unit 
2 

(b) ..!. unit 
3 

(c) ~ unit 

{d) ~unit 

53. A rhombus is formed by JOmmg 
midpoints of the sides of a rectangle in 
the suitable order. If the area of the 
rhombus is 2 square units, then the 
area of the rectangle is 

(a) 2../2 square units 

(b) 4 square units 

(c) 4../2 square units 

(d) 8 square units 

54. If each interior angle of a regular polygon 
is 140°, then the number of vertices of 
the polygon is equal to 

(a) 10 

{b) 9 

(c) 8 

raJ 7 
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55. Let the triangles ABC and DEF be such 
that L ABC = LDEF, L ACB = L DFE and 
LBAC = LEDF. Let L be the midpoint of 
BC and M be the midpoint of EF. 
Consider the following statements : 

Statement I : 

Triangles ABL and DEM are similar. 

Statement II : 

Triangle ALC is congruent to triangle 
DMF even if AC ,;:. DF. 

Which one of the following is correct in 
respect of the above statements? 

(a) Both Statement I and Statement II 
are true and Statement II is the 
correct explanation of Statement I 

(b) Both Statement I and Statement II 
are true but Statement II is not the 
correct explanation of Statement I 

(c) Statement I is true but Statement II 
is false 

(d) Statement I is false but Statement II 
is true 

56. The number of rounds that a wheel 
of diameter 7 f 11 metre will make in 
traversing 4 km will be 

(a) 500 

{b) 1000 

(c) 1700 

(d) 2000 



52. lfR ~ fcfi ABC ~ "&~ t, ~ AB cfil 

~ ~ "%f{ ~ I D 3fR E SPiro: AB 3fR AC 

11\ ~ "STCfil\ ~ ~ ~ fcfi BC 3fR DE tfl1icl1: 
t I ~ "&~ ABC CflT ~, f;t~ ADE ~ 
~ CflT ~ "Ff t, ol ADcfil ~ ~ ~? 

(a) _! "%f{ 
2 

(b) .! ~ 
3 

(c) __!_ "%f{ 
J2 

(d) .h "%f{ 

53. ~ 3WRl cfil ~3i\ ~ l1~-~3i\ Cfil ~ ~ 
Si1llit ~~~~~~~I ~ 
~~ CflT ~ 2 crT ~ t ol 3fTGffi Cfil 

~~~? 

(a) 2./2 crl~ 

(b) 4 crT~ 

(c) 4J2 crT~ 

(d) 8 crT "%f{ 

54. ~ ~ tll1 ~~ Cfil ~ ~:cnlur 140° ~. ol 
~~ ~ ~ cfil tf&n ~ ~ ~? 

(a) 10 

(b) 9 

(c) 8 

(d) 7 
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55. lfR ~ fcfi f;t~ ABC 3fR "&~ DEF ~ 
"STCfil\ t fcfi L ABC = L DEF, L ACE = L DFE 

3fR L BAC = LEDF ~I lfR ~ L, BC Cfil 

l1~ -~ ~ 3fR M, EF Cfil l1~-~ ~ I 
RklR1f{g<1 q1~ 1R fcRrn ~: 

Cl)~ I: 

f;t~ ABL 3fR "&~ DEM ~ t I 

Cl)~ II : 

~ ALC, ft";P~ DMF t ~ t, <lof oij\, 

~ AC;t DFtl 

~ q1~ ~ ~ f.lklf<.1\{g ct it ~ Cf>t.l-m ~ 
mft ~? 

(a) Cl)~ I 3fR Cl)~ II Gl;fl ~ t 3fR 
Cl)~ II, c:p~ I cfil mft ~ ~ 

(b) c:p~ I 3fR c:p~ II Gl;fl ~ ~ ~ 

Cl)~ II, Cl)~ I cfil mft ~ ~ ~ 

56. 7 j 11 -qm O<fTB ~ ~ ~ S,Rl 4 fcfio "!fto cfil 

~ crl Cf>G -q WlT"Q; TT1l: ~ cfil tf&n ~ 
m? 
(a) 500 

(b) 1000 

(c) 1700 

(d) 2000 

[ P. T . 0. 



57. The base of an isosceles triangle is 
300 units and each of its equal sides is 
170 units. Then the area of the triangle 
is 

(a) 9600 square units 

(b) 10000 square units 

(c) 12000 square units 

(d) None of the above 

58. Four equal discs are placed such that 
each one touches two others. If the area 
of empty space enclosed by them is 
1501847 square centimetre, then the 
radius of each disc is equal to 

(a) 7 16 em 

(b) 516 em 

(c) 112 em 

(d) 5 /11 em 

59. ABC and DEF are similar triangles. If the 
ratio of side AB to side DE is 
( .fi + 1) : ./3, then the ratio of area of 
triangle ABC to that of triangle DEF is 

(a) (3 -2.f2): 3 

(b) (9- 6.f2): 2 

(c) 1:(9 - 6.f2) 

(d) (3 + 2.fi): 2 

60. A tangent is drawn from an external 
point 0 to a circle of radius 3 units at 
P such that OP = 4 units. If C is the 
centre of the circle, then the sine of the 
angle COP is 

(a) 415 

(b) 314 

(c) 315 

(d) 112 
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6 1. 

62. 

63. 

20 

A square is inscribed in a right-angled 
triangle with legs p and q, and has a 
common right angle with the triangle . 
The diagonal of the squ are is given by 

(a) 
pq 

p +2q 

(b) __E!L 
2p +q 

(c) 
.fipq 
p +q 

(d) 
2pq 
p+q 

If ~ - 1t tan e = 1 and ~ tan e + 1t = 1, then 
a b a b 

x2 y2 
the valu e of - + - is 

a2 b2 

(a) 2sec2 e (b) sec 2 e 

(c) cos 2 e (d) 2cos2 e 

Consider the following : 

1. 

2. 

l - ease 
- - - = cosece - cote 
1 +case 

1 +case 
--- = cosece +cote 
1 - case 

Which of the above is I are identity I 
iden tities? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 



I 

57. M wlfg:"tt§ fi~ CfiT 31Ttm 300 ~ t 1 

~ W1R ~:m :q ~ ~ r.ft ~ 
170~il ~Cfil ~~t? 

(a) 9600 Cf1i ~ 
(b) 10000 Cf1i ~ 
(c) 12000 Cf1i ~ 

(d)~ -~~~~ 

5 8 . 'qT\ W1R ~:m en) ~ >ICfiR ~ ~ t ~ 
~ ~ m ~ ~:men) m Cfi«ft t 1 

~~rn~fufi~Cfil~ 
150/847 Cf1i ~0 "lfto t, m ~ ~ r.ft 
~ ~ GR1il1: i? 
(a) 7/6 ~o "lfto 

(b) 5/6 ~o "lfto 

(c) 1/2 ~o lfto 

(d) 5/11 ~o "lfto 

59. ABC 3fR DEF~ ~ t1 ~ ~ AB 

3fR ~ DE CfiT ~ (,fl.+ 1): .J3 t, m 
fi~ ABC~ ~ CfiT fi~ DEF ~ ~ 
~~~i? 

(a) (3 -2,J2): 3 

(b) (9 - M) : 2 

(c) 1:(9 - Ml 

(d) (3 + 2,fi) : 2 

60. 3 ~ r.ft ~ ~ ~ V'f ~ ~ p l:R ~ ~ 
~ o ~ ~ m-oo ~ >ICfiR ~ ~ t 
~ OP = 4 ~ t I ~ V'f CfiT ~ C t , m 
Cfi1uT COP CfiT sine ~ i? 
(a) 4/5 

(b) 3/4 

(c) 3/5 

(d) 1/2 
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6 1. p 3fR q ~:m ~ ~ ~ -&~ :q ~ 
3tf:Cfli mT ~ i I fi~ CfiT ~' Cf1i CfiT 

~ ,ft i I Cf1i CfiT ~ ~ GR1il1: i? 

(a) 
pq 

p+2q 

(b) 
pq 

2p+q 

(c) 
,fipq 
p+q 

(d) 
2pq 
p +q 

(a) 2sec2 e (b) sec2 e 

(c) cos2 e (d) 2cos 2 e 

1. 

2. 

1- cose 
-- = cosece - cote 
1 + cose 

1 +cose -- =cosec8+cot8 
1- cose 

~ :q ~ ~-~ ti&ti~Cfll/ti<hl~Cfll~ il~? 

(a)~ 1 

(b) ~2 

(c) 1 3ffi 2m 

fdJ ";{ m 1 3ffi ";{ ~ 2 

[P. T. 0 . 



64. If p = cot8 + tane and q = sece - cos8, 
2 2 

then (p 2qp -(q2p)3 is equal to 

(a) 0 

(b) 1 

(c) 2 

{d) 3 

65. Two observers are stationed due north of 
a tower (of height x metre) at a distance 
y metre from each other. The angles of 
elevation of the tower observed by them 
are 30° and 45° respectively. Then xI y 
is equal to 

(a) 
J2 - 1 

2 

(b) 
../3 -1 

2 

(c) 
../3 + 1 

2 

(d) 1 

66. If 

cos 2 8 - 3cos8 + 2 = 1 
sin2 8 

where 0 < 8 < 2:, then which of the 
2 

following statements is I are correct? 

1. There are two values of e satisfying 
the above equation. 

2. 8 = 600 is satisfied by the above 
equation . 

Select the correct answer using the code 
given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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67. In a triangle ABC if A - B = 2:, then C + 2B 
2 

is equal to 

2n 
(a) 3 

(b) 
3n 
4 

(c) n 

1t 
(d) 2 

68. Which of the following 
in respect of the 

3 - tan 2 e = a ( 1- 3 tan 2 8 )? 

a is a real number .) 

(b) a E ( - oo, ~ J u [ 3, oo ) 

(c) a E (- oo , ~) u [ 3, oo) 

(d) None of the above 

is correct 
equation 

(Given that 

69. There are five lines in a plane, no two 
of which are parallel. The maximum ~,..- : 

number of points in which they can 
intersect is 

(a) 4 

(b) 6 

(c) 10 

(d) None of the above 



• 

.. 

64. <l"fu p = cot 8 + tan 8 3fR q = sec 8 - cos 8 t 
<iT (p2q) ~ - (q2p)~ ~~~? 

(a) 0 

(b) 1 

(c) 2 

{d) 3 

65. Gl ~~ 1% ~ (x ~ ~) ~ itcP ~ -ij 
1%-~ ~ y~ cfiT ~ 11\ ~~I ~ GFn 
-mT ]f~ ~ ~ ~ Cfl1ur ~: 30° 3fR 
45°~IW xjy~~~? 

(a) 
.J2 -1 

2 

(b) 
.J3 - 1 
--

2 

(c) 
.J3 + 1 
--

2 

(d) 1 

66. <l"fu 

cos2 8 - 3cos8 + 2 = 
1 

sin2 8 

~ o < 8 < ~ t <iT f.t&:~R1fui<1 q;~ -q ~ 
2 

~-"ill/~@~~~? 

1. ~ WfiCfl\01 -Cf'l) ~ Cfi"8 ~' 8 ~ Gl 
llR ,~I 

2. 8 = 600 ~ WfiCfl\01 ~~~I 

~ ~ 1"J1J. ~ <fiT ~ Cfi\ "Btft ~ ~I 

(a) ~ 1 

(b) ~2 

(c) 1 3fR 2 GFn 

(d) ~ <iT 1 3fR ~ ~ 2 
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67. 1% f5i'!F ABC -ij ~ A - B = ~ t m C + 2B 
2 

~~~? 

21t 
(a) 3 

(b) 37t 

4 

(c) 7t 

(d) 1t 
2 

68. R&:Jf~fui<1 -ij ~ ~-"ill , ~41Cfl{OI 

3 - tan 2 8 = Ct. ( 1 - 3 tan 2 8) ~ ~ if @ 

~? (W:n "l"f<n ~ fcn a. 1% Cf lf<1fi1Cfl m ~ 1) 

(a) Ct. E[~, 3] 

(b) Ct.E(-oo, ~Ju[3, oo) 

(c) Ct. E( -oo, ~)u[3, oo) 

(d) ~-ij~~~ 

69. 1% ~ -ij ~ t&nt t ~ ~ ~ ,:ft Gl 
~ ~ ~ ~ ~ ~311 cfil, m 11\ ~ ~ 
<f){ ~~. ~~cp:n~? 

(a) 4 

(b) 6 

(c) 10 

[P.T. 0. 



70. Consider a circle with centre at 0 and 
radius 7 em. Let QR be a chord of length 
2 em and let P be the midpoint of QR. 
Let CD be another chord of this circle 
passing through P such that L CPQ 
is acute. If M is the midpoint of CD 
and MP = ./24 em, then which of the 
following statements are correct? 

1. LQPD = 135° 
2. IfCP = m em and PD = ncm, then m 

and n are the roots of the quadratic 
equation x 2 - lOx + 1 = 0. 

3. The ratio of the area of triangle OPR 
to the area of triangle OMP is 1: 2../2. 

Select the correct answer using the code 
given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

71. Let ABC be a triangle in which AB = AC. 
Let L be th~ locus of points X inside or 
on the triangle such that BX = CX. 
Which of the following statements are 
correct? 

1. L is a straight line passing through 
A and in-centre of triangle ABC is 
on L . 

2. Lis a straight line passing through 
A and orthocentre of triangle ABC 
is a point on L. 

3. Lis a straight line passing through 
A and centroid of triangle ABC is a 
point on L. 

Select the correct answer using the code 
given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only L 

(d) 1, 2 and 3 
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72. Consider a circle with centre at C. Let OP, 

OQ denote respectively the tangents 
to the circle drawn from a point 0 
outside the circle. Let R be a point on OP 
and S be a point on OQ such that 
OR x SQ = OS x RP. Which of the 
following statements is I are correct? 

1. If X is the circle with centre at 0 
and radius OR, and Y is the circle 
with centre at 0 and radius OS, 
then X= Y. 

2. LPOC + LQCO = 900 

Select the correct answer using the code 
given below. 

{a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

73. If m and n are distinct natural numbers, 
then which of the following isjare 
integer /integers? 

1. 

2. 

3. 

m n 
-+­
n m 

mn 

Select the correct answer using the code 
given below. 

(a) 1 and 2 

(b) 2 only 

(c) 2 and 3 

(d) 3 only 

• 



70. ~ 0 3fR 7 ~o lfto ~ ~ '1% ~ 1R fcFm 
~I 11R ~ QR, 2 ~o lfto ~ 1% 

~ t 3fR 11R ~ P, QRCfil 1=1~-% t 1 
11R ~ CD ~ ~ ~' P ~ ~ 
~' '1% 3R ~ ~ >ICfiR t fcj) LCPQ 

~ t 1 ~ M, CD CfiT 1=1~-% t 3fR 
MP = ../24 ~o lfto t, m f.lt=tR1fula ~ -q 
~ m--it~~? 

1. LQPD = 135° 

2. ~ CP = m ~o lfto 3fR PD = n ~o lfto 
~' "ffi m 3fR n h B'iiCf>{UI 

x 2 - 1 Ox + 1 = 0 ~ ~ ~ I 

3. f;{~ OPR ~ ~ CfiT f;{~ OMP ~ 

~~~ 1: 2../2tl 

~ ~ lTC; ~ CfiT m 'Cf){ t~tt ~ ~ 1 

(a) ~ 1 3fR 2 

(b) ~ 2 3fR 3 

(c) ~ 1 3fR 3 

(d) 1, 2 3fR 3 

71. 11R ~ ABC 1% f;{~ t, ~ AB = AC 

t I 11R ~ %3il X CfiT, ~ fcj) f;{~ ~ 3lG< 
<n ft~ 1R ~ ]'CflR ~ fcj) sx = ex t, ~~ 
L t I f.lt=tR1fula 'Cf>~ -q "it m--it Btl~? 
1. L, A "it ~ ~ 1% ~ ~ t 3fR 

ft~ ABC CfiT 3-lo:~ L 1R t I 
2 . L, A "B ~ ~ 1% ~ ~ t 3fR 

f;{~ ABCCfil ~ L 1R 1%% t I 

3. L, A ~ ~ ~ 1% ~ ~ t 3fR 
f;{~ ABCCfil ~ L 1R 1%% t1 

~ ~ lTC; ~ CfiT m 'Cf){ Btl ~ ~ 1 

(a) ~ 1 3fR 2 

(b) ~ 2 3fR 3 

(c) ~ 1 3fR 3 

(d) 1, 2 3fR 3 
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72. ~ C ~ 1% ~ 1R fcFm ~I ll'R ~ 
OP, OQ ~: ~ ~ ~ % 0 ~ ~ 1R 
'&tefi 1"'<fi -mf-~ ~ I ll'R ~ R, OP 1R 
1% % 3ft< S, OQ 1R 1% % ~ >ICfiR t fcj) 

ORx SQ = OS x RP t1 Rt=tR1fula ~ -q ~ 
m-~~~ Btl t/~? 

1. ~x,~o3t'R~ORCfiT~to~ 
Y,~03ffi~OSCfiT~t,m 
X=Yt l 

2. L POC+ LQCO = 900 

~ ~ lTC; ~ CfiT m 'Cf){ Btl ~ ~ 1 

(a) ~ 1 

(b) ~2 

(c) 1 3ft< 2 ~ 

(dJ ~ m I" 3ft< ~ ~ 2 

73. ~ m 3ft< n m ~ ~ t m f.lt=tR1fula -q 
~~-~~~~t/~? 

1. m+~ 
n m 

~~Tf'C;~'Cf)'[ >f<WT'Cf){Btt~~l 

(a) 1 3ft< 2 

(b) ~2 

(c) 2 3ft< 3 

(d) ~3 

[ P. T. 0. 



74. Outside a meeting room, Madhukar was 
told by a person that each meeting 
takes place after 13/4 hours. The last 
meeting has been over just 45 minutes 
ago and the next meeting will take place 
at 2 p .m. At what time did Madhukar 
receive this information? 

(a) 10:20 a.m. 

(b) 11:30 a.m. 

(c) 11:40 a.m. 

(d) 11:50 a.m. 

75. The expenditure of a household for a 
certain month is ~ 20,000, out of which 
~ 8,000 is spent on education, ~ 5,900 
on food, ~ 2,800 on shopping and the 
rest on personal care. What percentage 
of expenditure is spent on personal 
care? 

(a) 12% 

(b) 16·5% 

(c) 18% 

(d) 21·8% 
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76. If 
61 1 
-=3+----
19 1 

x+--1 
y +­

z 

where x, y and z are natural numbers, 
then what is z equal to? 

(a) 1 

(c) 3 

(b) 2 

(d) 4 

77. A circular path is made from two 
concentric circular rings in such a way 
that the smaller ring when allowed to 
roll over the circumference of the bigger 
ring, it takes three full revolutions. 
If the area of the pathway is equal to 
n times the area of the smaller ring, then 
n is equal to 

(a) 4 

(c) 8 

(b) 6 

(d) 10 

78. Consider the following statements 

1. If n ~ 3 and m ~ 3 are distinct 
positive integers, then the sum of 
the exterior angles of a regular 
polygon of m sides is different from 
the sum of the exterior angles of a 
regular polygon of n sides. 

2. Let m, n be integers such that 
m > n ~ 3. Then the sum of the 
interior angles of a regular polygon 
of m sides is greater than the 
sum of the interior angles of a 
regular polygon of n sides, and their 

sum is (m + n)2:. 
2 

Which of the above statements isjare 
correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

.. 



74. ~m Cfi&J ~ ~ 1% cxiTffi ~ 11WR cit~ fcfi 
~ ~ 13/4 tR1 ~ GfiG M ~I ~ 
~ $n 45 f?Rl ~ ~ wrrn ~ ~ 3ffi 

~ ~ ~ 2 ~ "M11 11WR cit~ 
~~Wl<JmH~? 

(a) 10:20 ~ 

(b) 11:30 ~ 

(c) 11 :40 ~ 

(d) 11:50 ~ 

75. 1% tR CflT M ~ ~ CflT ~ {' 2o,ooo t 
~ ~ fila:n 1R {' 8 ,000, "&"A 1R {' 5,900, 

~ 1R {' 2 ,800 3ffi ~ Ollfffi11d ~'ffi11R 

~ ~ ~ I ¥1 ~ CflT fci:>o;n ~ ~ 
Ollfffi11d ~'ffi11R ~311 ~? 

(a) 12% 

(b) 16·5% 

(c) 18% 

(d) 21·8% 
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76. ~ 

61 1 - = 3 +----:--
19 X + __ 1_ 

1 y +­
z 

~ x , y 3ffi z q;f ~ t -m z ~ ~ 
~? 

(a) 1 

(c) 3 

(b) 2 

(d) 4 

77. 1%~11~-Glm~~~~"SfCfiT\~ 
~ fcf; ~ -m2 ~ cit ~ ~ cfiT ~ 1R 

wwn ~ t, q1 ~ ~ tfR qf\sti'iOI Cfi«ff ~I 

~ lW1 CflT ~. -m2 ~ ~ ~ CflT 

n~t,cil n~~~? 

(a) 4 (b) 6 

(c) 8 (d) 10 

78. f.l8 Rifula Cfi~ 1R ~ ~ : 

1. ~n ~ 33ffim~3f~~~ 

tcilm~3il~l%~~~~ 
atf%&ilon CflT ~. n ~3il ~ 1% 

~ ~~ ~ atf%&h"'lofi ~ ~ ~ ~ 
~I 

2 . l1R ~ m, n ~ ~ "5fCfiR ~ fcfi 
m > n ~ 3. cil m ~3il ~ 1% ~ 

~~ ~ ~:Cfiluil CflT ~. n ~3il 
~ 1% ~ ~~ ~ ~:Cfiluil ~ ~ 

~ ~ ~ 3ffi ~ ~ (m+n)~ 
2 

~I 

~ Cfi~ -q ~~-til/~~~~~? 

(a) ~ 1 

(b) ~2 

(c) 1 3ffi 2m 

(d) ";{ -m 1 3ffi ";{ ~ 2 

[ P. T. 0 . 



79. Consider the following statements : 

1. 

2. 

There exists a regular polygon 
whose exterior angle is 70°. 

Let n ~ 5. Then the exterior angle 
of any regular polygon of n sides 
is acute. 

Which of the above statements is/are 
correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

80 . In a triangle PQR, point X is on PQ 

and point Y is on PR s u ch 
that XP = 1· 5 units, XQ = 6 units, 
PY = 2 units a nd YR = 8 units. Which 
of the following a re correct? 

1. QR= 5XY 

2 . QR is parallel to XY. 

3. Triangle PYX is s imilar to triangle 
PRQ. 

Select the correct answer using the code 
given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

81. If a transversal intersects four parallel 
straight lines, then the number of 
distinct values of the angles formed will 
be 

(a) 2 

(b) 4 

(c) 8 

(d) 16 
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82. A person travels 7 km eastwards and 
then turns right and travels 3 km and 
further turns right and travels 13 km. 
What is the shortest distance of the 
present position of the person from h is 
starting point? 

{a) 6 km 

(b) 3./5 km 

(c) 7 km 

(d) 4./5 km 

8 3 . ABC is a triangle in which D is the 
midpoint of BC and E is the midpoint 
of AD. Which of the following statements 
is/ are correct? 

8 4. 

1. The area of triangle ABC is equ al to 
four times the area of triangle BED. 

2. The area of triangle ADC is twice 
the a rea of triangle BED. 

Select the correct answer using the code 
given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

A circle of 3 m radius is d ivided into 
three areas by semicircles of radii 1 m 
and 2m as shown in the figure above. 
The ratio of the three areas A, B and C 
will be 

(a) 2 : 3: 2 

(c) 4: 3:4 

(b) 1: 1: 1 

(d) 1: 2: 1 



---

f 

7 9 . f.I8R1Rsid q;28) tf{ ~ ~ : 

1. ~ tm ~~ Cfil , ~ Cil~&:f>'IUI 70° t 
~tl 

2. l1R ~ n ~ 5 t I ill M \ft n ~3-TI 
~ tm ~~ CfiT Cil~&:f'>'lul ~~I 

~ q;28) 1) "il ~--m/"il ~ t/~? 

(a) ~ 1 

(b) ~2 

(c) 1 3fu: 2 GRl 

fdJ ";{ ill 1 3fR ";{ m 2 

80. M ~~ PQR 1) ~ X, PQ tf{ 3fR ~ 
Y, PR tR ~ ~ ~ fop XP = 1· 5 ~' 
XQ = 6 ~' PY =2 ~ o~ YR = 8 ~ 
~I f.l8fu1Rsid 1) "il ~-"il ~ ~? 

1. QR = 5XY 

2. QR, XY~~tl 

3 . ~~PYX,~~ PRQ~~tl 

~ ~~~Cfilwfrl<fi\~~~ 1 

(a) ~ 1 3fR 2 

(b) ~ 2 3fR 3 

(c) ~ 1 3fR 3 

(d) 1, 2 3fR 3 

8 1. <lR ~ ~ W1 Tm ~ ~ W13TI Cfil 

5l RriS{§c; '"J Cfi\<ft t, ill ~ ~ ~ CfiTuil ~ ~ 
l1Fft ~~~M? 

(a) 2 

(b) 4 

(c) 8 

(d) 16 
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82. ~ CX1fui ~ ~ 3lR 7 fopo >fto ~ t , m 
~ ~ t ~ 3 fopo >fto ~ t 3fR m 
~ ~ t ~ 13 fopo >fto ~ t I "3B CX1fui 
~~~it~ cffillR w.mr ~ ~ 
~~t? 

(a) 6 fopo >fto 

(b) 3.J5 fop 0 1ft 0 

{c) 7 fopo >fto 

(d) 4.J5 fop 0 1ft 0 

83. ABC~~~~. ~ D, BCCfil llUi-~ t 
3fR E, AD Cfil llUi-~ t I f.l8 Ri f@ d q;28) 1) 

"il ~--m/"il ~ ~/~? 

84. 

1. "&~ ABC Cfil ~. ~~ BED ~ 
~ Cfil Tm ~ t I 

2. ~~ ADC Cfil ~~ ~~ BED ~ 
~Cfili't~tl 

~ ~ ~ ~ Cfil m Cfi\ ~ ~ ~~ 

(a) ~ 1 

(b) ~2 

(c) 1 3fR 2 GRT 
fdJ ";{ ill 1 3fR ";{ m 2 

~ fop "3i1R ~ m 11 Gffi<n 71<n t 3 1ft o 

~ ~ ~ VJ CfiT 1 >fto 3fr\ 2 >fto ~ ~ 
31~ "il <fA ~ ll fc{~ ~ 11<n ~ I <fR\ 
~A, B3fu: CCfil ~~m? 

(a) 2: 3: 2 (b) 1: 1: 1 

(c) 4 : 3: 4 (d) 1: 2 : 1 

[ P. T. 0 . 



85. 

86. 

If H = 
10 

- Hand x - y= 8, 
y 3 X 

then the 

value of xy is equal to 

(a) 36 

(b) 24 

(c) 16 

(d) 9 

A 

p 

Q c 

ABC is a triangle right angled at C as 
shown in the figure above. Which one 
of the following is correct? 

B-ABPA-P-JRW I 5 4 A 30 

87. 

In the figure given above, AD= CD = BC. 
What is the value of LCDB? 

(d) Cannot be determined due to 
insufficient data 

88. ABC is an equilateral triangle and X, Y 
and Z are the points on BC, CA and AB 
respectively such that BX = CY = AZ. 
Which of the following is / are correct? 

1. XYZ is an equilateral triangle. 

2. Triangle XYZ is similar to triangle 
ABC. 

Select the correct answer using the code 
given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 



f 

85. ~ ~ = _!_Q - fi 3fr{ X - y = 8 t "ffi xy CfiT "Jy 3 v~ 

86. 

TfR~~i? 

(a) 36 

(b) 24 

(c) 16 

(d) 9 

A 

p 

B Q c 

ABC 1:% f-f~ t ~ C ~ t . ~ fcfi 
~ ~ m -q ~ TJGlT i I RtoJ R1R9a -q ~ 
~-111 1:% -mft i? 
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87. 

~ ~m-q AD = CD = BCil L CDB 

CflT TfR <Pn i? 

fdJ ~ ~ ~ CfiRUT -Am ~ M 
-m tfcfi(fl 

88. ABC 1:% ~ f-f~ i 3fR ~ X, Y ll?i Z 

S8m: BC, CA tfm AB 1:R ~ >JCfiR ~ fcfi 
BX = CY = AZ i I RtoJfcti{ga -q ~ ~-mj~ 
-mft if~? 

1. XYZ~~f-f~i l 

2. f-f~ XYZ, f-f~ ABC~~il 

~ ~ lJ1; ~ CfiT ~ ~ -mft ~~I 

(a) ~ 1 

(b) ~2 

(c) 1 3fR 2 'GR1 

(d) ~ (f) 1 3fR ~ tt 2 

(P. T. 0 . 



89. 

90. 

In the figure given above, p and q are 
parallel lines. What are the values of the 
angles x, y and z? 

(a) X= 800, y = 400, z = 1000 

(b) X= 800, y = 500, z = 105° 

(c) X= 700, y=400, z = 1100 

(d) X= 600, y = 200, z = 1200 

5x-2y=l0 

The linear inequations, for which the 
shaded area in the figure given above is 
the solution set, are 

(a) 2x+6y~21, 5x - 2y~ 10 

(b) 2x + 6y ~ 21, 5x - 2y~ 10 

(c) 2x+6y~21, 5x-2y~10 

(d) 2x+6y~2 1, 5x-2y~ 10 
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91. The election result in which six parties 
contested was depicted by a pie chart. 
Party A had an angle 135° on this pie 
chart. If it secured 21960 votes, how 
many valid votes in total were cast? 

(a) 51240 

(b) 58560 

(c) 78320 

(d) 87840 

92. The mean and median of 5 observations 
are 9 and 8 respectively. If 1 is 
subtracted from each observation, then 
the new mean and the new median 
will respectively be 

(a) 8 and 7 

(b) 9 and 7 

(c) 8 and 9 

(d) Cannot be determined due to 
insufficient data 

93. The age distribution of 40 children is as 
follows : 

Age (in years) 

No. of children 

Consider the following statements in 
respect of the above frequency 
distribution : 

1. The median of the age distribution 
is 7 years. 

2. 70% of the children are in the age 
group 6-9 years. 

3. The modal age of the children is 
8 years. 

Which of the above s tatements are 
correct? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 



t 

89. 

90. 

p 

q 

~ ~ffi-q p 3fR q~~tl CfiluT 
x, y 3fR z t l1R Cflll t? 

(a) X = 80", y = 40", z = 100" 

(b) X= 80", y =50", z = 105° 

(c) X= 70", y = 40", z = 110" 

(d) X= 6{)", y = 20", z = 120" 

5x-2y=l0 

~ ij@q; 3H1~Cfl l~, ~ ~ ~ ~ ~ 
~mu~~ml\~~tt 

(a) 2x+6y~2 l, 5x - 2y~ 10 

(b) 2x+6y~2 1, Sx -2y ~ 10 

(c) 2x + 6y ~ 2 1, 5x - 2y ~ 10 

(d) 2x+6y~2 1, Sx -2y ~ 10 
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91. 1:% ~ Cfil, ~ ~ ~ ~ lTPT fW:n, ~ 
~ ("tlT{~) am~~ ~ ~ ~ -q 
~ A CfiT CfiluT 135° ?.TT I ~ ~ 2 1960 lTif 

fiffi' "ffi ~ fcfi<R ~'q lTif ~ TJ'lJ; ~? 

(a) 51240 

{b) 58560 

(c) 78320 

(d) 87840 

92. 5 ~8.1UTI t lfiUf 3fR ~ ~: 9 3fR 8 t I 

~ ~ ~~ -B 1 t:R.l<:rT ~' "ffi ~ lfiUf 

3TR~~~'~: 

(a) 8 3fR 7 

{b) 9 3fR 7 

(c) 8 3fR 9 

(d) ~ ~ t <fiRUT f.tm ~ ~ 7;fl 

~ 

93. 40 ~ <f;'t ~ CfiT ~ f.'li4R1fuid t : 
~ (Cflll ii) 5-6 6-7 7-8 8-9 9- 10 10-11 

~ ciit ti&n 4 7 9 12 6 2 

~ <~~ 1{"11{(11 ~ t <ifR 1\ f.!14R1fuld q:;~ 

1:f{ fcRrn ~ : 

1. ~~cfa~7~il 

2. 70% ~ 6-9 ~t ~ qlf .q t l 

3. ~cfa~~8~i1 

~ Cfi~ .q -B ~--B ~ t? 

{a) m 1 73fu 2 

fbJ m 2 3fR 3 

(c) m 1 3fR 3 

(d) 1, 2 3fR 3 

[ P. T. 0 . 



94. Suppose xi = ')._i for 0 ~ i ~ 10, where A.> 1. 

Which one of the following is correct? 

(a} AM < Median 

(b) GM < Median 

(c) GM = Median 

(d) AM = Median 

1 
95. Suppose xi =-:- for i = 1, 2, 3, ... , 11. 

1 

Which one of the following is not 
correct? 

(a} AM > 1/6 

(b) GM > 1/6 

(c) HM > 1/6 

(d) Median = HM 

96. The value of 

1 
-log10 3125- 4log10 2 + log10 32 
5 

is 

(a) 0 

(b) 1 

(c) 2 

(d) 3 

4 1t 
97. If tane +cote= "''where 0 < e <-,then 

v3 2 
sine + cos e is equal to 

(a) 1 

./3 - 1 
(b) 

2 

(c) 

(d) J2 
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98. The value of the expressi n 

(243 + 647) 2 + (243- 647) 2 

243 x243 + 647 x , 47 

is equal to 

(a} 0 

(c) 2 

(b) 1 

(d) 3 

99. If a and bare negative rea numbers and 
cis a positive real numb r, then which 
of the following is I are c rrect? 

100. 

1. 

2. 

3. 

a-b<a-c 
a b 

If a < b, then - < - . 
c c 

1 1 
-<­
b c 

Select the correct answer sing the code 
given below. 

{a) 1 

(b) 2 only 

(c) 3 only 

{d) 2 and 3 

AD ;s the d;ameter of a~~. rcle w;th area 

707 m 
2 

and AB = BC = j~ as shown in 
the figure above. All curves inside 
the circle are semicirc es with their 
diameters on AD. What is the cost of 
levelling the shaded regio at the rate of 
~ 63 per square metre? 

{a} ~ 29,700 

(b) ~ 22,400 

(c) ~ 14,847 

{d) None of the above 

, 



... 

94. 1iR ~ 0 ~ i ~ 10 ~ ~ xi = ;.,.i t ~ 
;.,. > 1 ~~ f.l~R1f@a 1l ~ ~-m 1:% ~ ~? 

(a) AM <~ 

{b) GM <~ 

(c) GM =~ 

{d) AM =~ 

95. 1iR ~ i = 1, 2, 3, ... , 11 ~ ~ xi = ~ 
l 

(a) AM > 1/6 

(b) GM > 1/6 

(c) HM > 1/6 

(d) llll~ = HM 

1 
96. S log10 3 125 - 4log10 2 + log10 32 Cf;l 1iR 

CFlT ~? 

(a) 0 

(b) 1 

(c) 2 

(d) 3 

97. ~ tanS +cote = ~ t ~ 0 < 9 < _::, en 
-v 3 2 

sine + cose ~ ~ ~? 

(a) 1 

(b) 
.J3 - 1 --

2 

(c) 
.J3 + 1 - -

2 

(d) J2 
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98.~ 

(243 + 647)2 +(243 - 647)2 

243 X 243 + 647 X 647 

Cf;lliR~~~? 

{a) 0 (b) 1 

(c) 2 (d) 3 

99. ~ a 3fR b 3ltOIIrliCfl q lf<lfc1Cfl ~ ~ 3fR c 

1:% ~ qlf<l~Cfl tf&n t en f.l~R1fuJa 1l 
~ ~-m/~ ~ ~~~? 

100. 

1. a - b<a-c 

2. ~ a< b, en ~<!!_~I 
c c 

1 ] 
3. - < ­

b c 

~ ~ 1fll; ~ q;r m Cfi1: ~ ~ ~~ 
(a) 1 

(b) ~2 

(c) ~3 

(d) 2 3fR 3 

~-FcP~ ~m -il~lFllt AD"\:% 

Tl q;r Olffil t Tl q;r ~ 707 cr1 1ft 0 ~ 
3fR AB = BC = CD ~ I Tf ~ ~ tf'if) crsfi 

31~ t ~ Olffil AD 1R t I ~ 63 >rffi crl 
1ft 0 cfi1 G{ ~ mflrn aft 'Cfl) ~ Cfi8 cfi1 'ffiTfO 

CFlT ~? 

(a) ~ 29,700 

(b) ~ 22,400 

(c) ~ 14,847 

(d) ~ 1l ~ 'Cfl){ 1b'i 

[P. T. 0. 


